Installation Instructions
Blower Accessory — Model No. 2901 and 2907

This blower accessory is installed on furnace top and increases circulation of warm air through heated space. A 115V
outlet adjacent to the furnace is required. For automatic setting, you must select “AUTO" position and for continuous
setting you must select “ON" position. When the furnace heats up, the automatic fan switch will be activated and the fan
will operate. The blower accessory will not operate if fan switch is set in “OFF” (center) position. Refer to your furnace
owner's manual for additional information. Be sure this accessory is of the type and design required for use with your
furnace.

1.

© N

10.

1.
12.

13.

Turn off electric power supply at disconnect switch, fuse box or service panel before installation or service of the
blower accessory.

Label all wires prior to disconnection when servicing. Wiring errors can cause improper and dangerous operation.

Verify proper operation after servicing.

Install 115V electrical outlet as shown in Figure A.

Remove two (2) screws securing blower grille and remove blower grille
as shown in Figure B.

,,\
Remove two (2) screws securing junction box cover. Remove cover to

gain access to knockout located in junction box.

Locate knockout and remove using a hammer and screwdriver. 91/8

Place blower body on furnace top as shown in Figure B. T Z ]
Route 115V wiring into junction box through knockout. ”pEﬂiF’TEER

0
FURNACE
Make wiring connection inside junction box as shown in Figures C. Follow
applicable local and national electrical codes. All electrical work must
conform to your local codes and ordinances or in their absence, with
National Electrical Code, NFPA 70/ANSI. If you are not familiar with
wiring codes in general, have a competent electrician do this job. 62 174

Drill 1/8 inch diameter hole in each side of the furnace face panel through
the holes on the sides of the fan cabinet. Secure the blower to the furnace
with the two screws provided.

FLOOR
Replace junction box cover, securing with screws previously removed. &“‘TE

Replace blower grille, securing with screws previously remeoved.
FIGURE A

Set switch to desired position. If left in “AUTO” position during summer
months, blower could be activated by heat. If this is undesirable, set
switch to “OFF” position.

FAN SWITCH

MOUNTING SCREW \
{2) REQUIRED \

FURNACE FACE PANEL \

FIGURE B

™\
N

RN

USRI ARSI




FIGURES C

=l MODEL 2901 | org T
| v FAN 151 2 2=0FF
R . - - iy volf L SWITCH Oy Zy I=AUTD
il vo oy figh waloga fisld | EGEND [1TFT]
R : igh wolteqe foctory. ! ' ! B OWER
i @) B Wi conasctut for line voituga ~ Yactory iiring 11 BK MOTOR ]
g [:]'1/4 guick Gynnecl lerminals for G
il . ! - factory wifing -cannections HEAT @ ]
- 8% = BLAGK Bi =~ BLUE W = WHITE H GND!
L n:w!nm: ¥ RETES: S = RED 6 = GREEN SENSOR — _i 8K
' o1 ' Ny I ¥ Mitor fa theimally protected, . SWITCH mmm——
HEAT e oiiD ¥ any of ‘the crigiea! wite ok sopiked with the
ssz'u'?ac:: e ) upplull:( m;.:\ e raphced, it mest be rplced y —+——— 115V B0Hz —— e,
At - v with (D5 ) wies ority squivelint '
'&Wiﬂ ot Tokal electricob lood laxs thon 3 AWFS. ! HOT ' NEUT !
£ s AT HEAT @ GND
ran (——t 1 e SENSOR 7 ==

SWTCH SWITCH
. - g 2K {BLOWER\BK
R O—O\b MOTOR
2 MODEL
O R GND

a3 2007
MODEL 2901 o voltoge foatory, LEGEND
REF. PART @ Wire connector for line vollage — factory wiring
NO. NO. DESCRIPTION L e e et "
7 P013200 Screw - #8A x 3/8 (8) e A
QCQQ Blower G”"e 12 :'f'o;gry I:f (Fh‘:"::l;)i,nglmu::'ikeoi supplied with the
3  P093200 Screw - #8B x 3/8 (3) et e or e saurent,
4 P141000 Screw-#10x % Total elecirical laad less thon 3 AMPS. ]
5 P320911A Toggle Switch
6 P320912 Wire Bridle
7 P127300 Flat Washer - #10-32 (2)
8 P041100 Machine Nut - #8-32 w/Washer (2) MODEL 2907
9  9C102 Blower Body REF. PART
10 P321078 Motor Mount Grommet (2) NO. NO. DESCRIPTION
11 P012900 Strain Relief Bushing 1 9Co9 Blower Grille
12 P323095 Fan Switch 2 98246 Orifice Plate
13 P029200 Screw - #6-32 x 5/16 3 98248 Wire Assemblies
14 P320905 Motor 4 P321842 Blower and Mr_)tor
15 P320907 Fan Blade 5 P320912 Heat _Senor Wire Assembly
I 6 9A483 Junction Box Cover
16 9D12+1 Orifice Plate 7 P323080  Fan Switch
17 9B161 Junction Box Cover 8 9B249 Blower Body
9 P323095 Heat Sensor Switch

JUNCTION BOX

MODEL 2901

MODEL 2907

CAUTION: Danger of property damage, bodily injury or death. Turn off electric power supply at disconnect
switch, fuse box or service panel before removing or working on fan cabinet.

© Williams Fumnace Co.

250 West Laurel Street Subject to change without notice.
Colton, California 82324 Printed in USA — All Rights Reserved
www.wic-fc.com P323284, 04/06




